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1
= Zab
. 1
sin(180° — x) = 3

180° — x = 30°, x = 150°




34. o= 193 £2 0ABCD 9 HolE oteizt (2, Bole At

\VARR 4
0
i

42+/3

B ~

AC V3

cos 30° = =7 , AC = 6V3cm
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AABC = 5 x12x 6 V3sin 30° = 18 V3(cm?)
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AH = 6cos60° =3 (km)
o HB =30-3=27 (km)
CH = 6sin60° = 33 (km)

.. BC = VHB? + CH?
= /272 + (3V3)2
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2t sin cos tan
35 0.5736 0.8192 0.7002
40 0.6428 0.7660 0.8391

O 7.002m @ 8.192m ® 14.088m
@15.393m ® 15.852m

AH = 10 x tan 40° = 8.391( m)
BH = 10 X tan 35° = 7.002(m)
e AH + BH = 8.192 + 7.002 = 15.393(m) ©]t}.
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OA =10x 1.5 = 15 (km)
OB =8x 1.5 =12 (km)
BH = 125in60° = 6 V3(km)
OH = 12c0s60° = 6 (km)
~ AH=15-6=9 (km)
ABHA = A ZHzgo| B2

AB = VAH? + BH?
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BC =2tan51° = 2x 1.2 = 2.4 (m)
CD =2tan36° = 2x 0.7 = 1.4 (m)
. BD=BC+CD =24+14=38(m)
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B ~

1
ODAB'E = 2AAB'E = 2x4V3x4x 5= 16 V3 (cm?)

D E

4cm

\

\

I
//'B’
402 g /4\/§cm

30




44.

che 2w 2ol 4B ol7t 12 A Aol HHsH Aol el

ol Sy +S; — Sy & otoiz).

\VARR 4
0
L

54

FAolZde TPAHY T #ol 6 o] 1 7121 Zo] 30°
o] SHAIZ 12 72 o] FEo]A i},
1
S = §><6><6><sin30°=9
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AH = CH, BH - tan 60° = CH

wetA] A1) ol V31 ofch,
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~ c0s30° _2\/§X7_ =4 (cm)

AABC 9] §olE o|-85td
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1 1 1
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D 22 @ 23 ® 32 @ 33 @4«/5

AABC 9] Ho]= % X 8 X 12 X sin 60° = 24 /3
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AABD = %AABC =123

ABGD = %AABD:%XlQ\/g:ZL\/g
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12 X 12 X sin 60 °

V3

1
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